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1. ROFHKX»Sz:yZROL. ZE Lz, yDELEH5H0TEEVDDET S,
(SH40F>, A% 14y, B#1330%, C#2530%)

(1) 9z =15y (2) 13z —y=>5y—8z
(3)  12(5z —2y) = 18(3z — v) g A= - Sy _ 2z Z 3y
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2. ROFHBAD»Sz:ymRODL. LKLz, yDELELHDH 0TI EVDDET S,
(S#H50F, Af1330%, B#25308, C#Hk4a4y)

(1)  122=9y (2)  —2lx + 64y = 30z — 55y
(3)  30(z +y) = 150(z — v) () Ao g 3y _ 6 2 5y
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1. ROFHKX»Sz:yZROL. ZE Lz, yDELEH5H0TEEVDDET S,
(SH40F>, A% 14y, B#1330%, C#2530%)

*2EH, 15EX & HIEHELS 1 DOXHTRES
ZITUE, BIZRE BRI TR, HBRO SN G5HOHITHS.

(1) 9z =15y (2) 13z —y =5y — 8z
& %:% <y £0 < 2lx =6y
& T _ 5 & Tr=2
Y 3
& L2 —y£0
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ZRD0TREVEFTIRNETHS.

(3)  12(5z — 2y) = 18(3z — y) (4) 4“’;5@/ - 2“’23?/
< 2(5x —2y) =303z —vy) < 2(4dx —5y) =2z + 3y
< 10z — 4y =9z — 3y < 8z —10y =2z + 3y
< =y <  6xr =13y

& =z _13 < y#0
riy=1:1 BZ Y 6

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2. ROFHBAD»Sz:ymRODL. LKLz, yDELELHDH 0TI EVDDET S,
(S50, Afk14730%, B#23 308, C#kdsr)

(1)  122=9y (2)  —2lx + 64y = 30z — 55y
< 4xr =3y < —=5lz=-119y
3 ..
<:> £ = — . <:> =
" T < y#0 3x =Ty
& T oL —ryzo

(3)  30(xz +y) = 150(z — y) (g Ao —61- 3y _ 6z ; 5y
<@ z+y=5-y) & 2(4x + 3y) = 3(6z — 5y)
& wty=>5z—>5y & 8z 6y =18z — 15y
¢ —dr="0y & 100 =21y
< 2w=3y & 10z =21y
& T _3 20 o & _ 21 ..
x:y=3:2 -BZX Sooxiy=21:10 FZX
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